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QUESTION 1

You want to install license keys as part of a VSP new installation.
Which tool must you use?

A. Storage Navigator 2

B. Web Console

C. Device Manager

D. SVP Maintenance Screen

Correct Answer: B

QUESTION 2

Which step must be performed when preparing for Hitachi Dynamic Provisioning operations?
A. Create Pool Vol LDEVSs.

B. Map Pool Vol LDEVs to FED ports.

C. Cross-link the mapping tables.

D. Create a CLPR for pool LDEVSs.

Correct Answer: A

QUESTION 3

A customer wants to know how to use the audit log for Storage Navigator.
Which two statements are true? (Choose two.)

A. The audit log is stored in the Web Console.

B. The audit log can be accessed from Storage Navigator.

C. The audit log is only viewable by the root user.

D. The audit log can be downloaded for offline viewing.

Correct Answer: BD
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QUESTION 4

An application running on a Windows server connected to a Hitachi Enterprise storage system with two paths is
generating mostly sequential 1/0.

Which algorithm should be set in Hitachi Dynamic Link Manager (HDLM) on that server?
A. Least Blocks

B. Round Robin

C. Sequential Blocks

D. Extended Least I/Os

Correct Answer: D

QUESTION 5

You have set Extended Round Robin in Hitachi Dynamic Link Manager (HDLM) running on a server with intensive
sequential 1/0 profile. Which two benefits result from implementing this algorithm? (Choose two.)

A. tracks preloaded to cache

B. blocks held permanent in Read Cache

C. no tracks preloading on the system

D. efficient cache usage on the storage system

Correct Answer: AD
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